4P paulforrer

Gewindetabelle / Tableau de filetage

Gewinde gemessen

Filetage mesuré

Aussen
extérieur

o
26.9
26.9

27
29.9
29.9
30.1
32.8
32.8
33.1

32.5-33.3
/
33.2
33.9
35.9
35.9
36.3
41.2
41.8
41.9
41.2-42.0
42.6
44.9
44.9
47.5
41.7
47.8
47.3-48.1
50.6
51.9
51.9
59.5
59.3-60.1
60.5
63.3
75.2
87.8

Innen
intérieur

Gewinde

Filetage

1-1/16“-12 UN
1-1/16“-14 UNS
3/4“-14 BSPT
M30x1.5
M30x2.0
1-3/16“-12 UN
M33X1.5
M33x2.0
1-11 BSPP
1-11.5 NPT
1“-11.5 NPSM
1-5/16“-12 UN
1-11 BSPT
M36x1.5
M36x2
1-7/16“-12 UN
1-5/8“~12 UN
1-1/4“~11 BSPP
M42x2
1-1/4“-11.5 NPT

1-11/16“-12 UNF

M45x1.5
M45x2.0
1-7/8“-12 UN
1-1/2“-11 BSPP
M48x2
14/2“-11.5 NPT
2-12 UN
M52X1.5
M52x2
2“-11 BSPP
2“-11.5 NPT
2“-11 BSPT
2-1/2“~12UN
2-1/2“-11 BSPP
3“-11 BSPP

Din 24°

22L,20S

28L, 25S

308

35L

42L, 38S

Verschraubung / Gewinde
Adapteur / Filetage

Aussen
extérieur

12 MJ, RA

12 MT
21F /12 MKX
22 MX, MXE
12 FM, 14 MJ, RA
16 MKX
23 MXE

16 MU, MUE, MJISX

16 MB

16 MJ, 16RA
16 MT

28 MX, MXE
16 FM
20 MJ, 20RA
20 MU, MUE, MT

20 MB
20 FM

24 MJ, RA
24 MU, MUE, MT
37 MXE
24 MB
2 4FM

32 MU, MUE
32 MB
32 MT

32 MJ, RA, FM
40 MU
48 MU

Innen
intérieur

12 NJ, RF

21F
22 FX
12 FF, 14NJ
16 FKX

16 NU, FC
16 NB

16 NJ, RF

28 FX
16 FF
20 NJ, RF
20 NU, FC

20 NB

20 FF

24 NJ, RF

24 NU, FC

24 NB

24 FF

32NU, FC
32 NB

32 NJ, RF, FF

40 NU
48 NU

Armatur / Gewinde
Raccord a sertir / Filetage

Aussen
extérieur

oD

12 MJ, MFA, MB, MBX

12 MS
12 MBSPT
21 MFG

20 MDH, 22 MDL
12 MFFOR, 14 MJ, 14 MB

16 MBSPP
16 MP, MPX

16 MJ, MFA, MB
16 MBSPT
27 MFG
28 MDL, 25 MDH
16 MFFOR
20 MJ, MB
20 MBSPP
30 MDH
20 MP
20 MFFOR
34 MFG
35MDL
24 MJ
24 MBSPP, MU

24 MP, MB

42 MFG
38 MDH, 42 Mz
32 MU
32 MP, MB
32 MT
32MJ

Innen
intérieur

12 FJX
12 FSX

21 FFGX, 12FKX
22 FDL.., 20 FDH..
12 FFORX, 14 FJX

16 FKX

16 FPX
16 FJX

27 FFGX, 20 FKX
28 FDL.., 25 FDH..
16 FFORX
20 FJX
20 FBSPORX
30 FDH...

20 FFORX
34 FFGX
35FDL...
24 FIX,NJ
24 FBSPORX

24 FFORX, 24 FF

16 FBSPORX, FJISX, FBFFX

42 FFGX, 42 RO52A

38 FDH...
32 NU

32 FJX, 32NJ

3 0 6 8 1 9 2

442001_3068192_A4



4P paulforrer

Gewindetabelle / Tableau de filetage

Gewinde gemessen

Filetage mesuré

Aussen
extérieur

9.6
9.9
9.9-10.2
11,0
11.9
/
12.5
13.1
13.2-13.6
/
13.6
13.9
14.2
15.7
15.9
16.6
16.6-17,1
1741
/
17.3
17.3
17.9
18.9
18.9
19.9
20.5
/
20.9
20.7-21.3
21.5
221
21.9
22.8
23.4
23.9
25.3
25.9
26.3
26.0-26.6
26.8
26.8
/

Innen
intérieur

10.5
10.9
11.4
11.6
11.4
121

12.5
12.9
14.5
14.5
15,0
14.8

15.5
15.8

16.5

17.4
18.5
19,0
19.1
18.7
18.3

20.4
20.5
20.7

22.5
23.5
24.5
24.3
23.6
25.4
24.9
24.6

Verschraubung / Gewinde
Adapteur / Filetage

Innen
intérieur

Gewinde
Filetage Aussen
extérieur
Din 24°
M08x1 04LL
1/8“-27 NPSM
1/8“-28 BSPP 02 MU, MUE, MT
M10x1 05LL, 6LL 04 MX, 04 MXE
1/8“-27 NPT 02 MB
7/16“-20 UNF 04 MJ, RA, MS
M12x1.5 06L, 08LL ' 06 MX, MXE, MDL, FDL
7/16“-24 UNS
1/2“-20 UNF 05 MJ, RA
1/4-19 BSPP 04 MU, MUE, MJISX
1/4“-18 NPT 04 MB
4“~18 NPSM
1/4“-19 BSPT 04 MT,
M14x1.5 08L,06S = 08 MX, MXE / 04 MKX
9/16“-18 UNF 06 MJ, RA, 04 FM
5/8“~18 UNF
M16x1.5 10L, 08S 10 MX, MXE
3/8“-19 BSPP 06 MU, MUE, MJISX
3/8“-18 NPT 06 MB
3/8“-19 BSPT 06 MT
3/8“-18 NPSM
11/16“~16 UNF 06 FM
11/16“~18 UNS
M18x1.5 12L,10S | 12 MX, MXE / 06MKX
3/4“-18 UNS
3/4“-16 UNF 08 MJ, RA
M20x1.5 128 13F
13/16“~16 UN 08 FM
1/2“-14 NPSM
1/2“-14 BSPP 08 MU, MUE, MJISX
1/2“-14 NPT 08 MB
1/2“-14 BSPT 08 MT
7/8“-14 UNF 10 MJ, RA
M22x1.5 151, 14S | 15 MX, MXE / 08 MKX
5/8“~14 BSPP 10 MU, MUE
5/8“-14 BSPT 10 MT
M24x1.5 16S 17 F, 10 MKX
1“-14 UNS 10 FM
M26x1.5 18L 18 MX, MXE
3/4“-14 BSPP 12 MU, MUE, MJISX
3/4“-14 NPT 12 MB
M27X1.5
M27X2.0 19 MXE
3/4“-14 NPSM

02NU, FC
04 FX
02NB
04 NJ, FS, RF
06 FX

05NJ, RF
04 NU, FC
04 NB

08 FX
06 NJ, RF, 04 FF

10 FX
06 NU, FC
06 NB

06 FF

FX

08 NJ, RF
13F
08 FF

08 NU, FC
08 NB

10 NJ, RF
15 FX
10 NU, FC

17F
10 FF
18 FX
12 NU, FC
12NB

Armatur / Gewinde
Raccord a sertir / Filetage

Aussen Innen
extérieur intérieur

W= 5

HEIR,

02 FP
02 MP
04 MFA, MS, MJ, MB, MIX, 04 FJX, FSX
06 MDL 06 FDL...
04 MIX
05 MJ, MIX, MFA, MB 05 FJX, FSX
04 MBSP.. 04 FJISX, FBSP....
04 MP, MPX 04 FP
04 FPX
04 MPBSPT
08 MDL 08 FDL..., 06 FDH....
06 MJ, MFA, MB, MFFOR, MBX 06 FJX
06 MS, MIX 06 FSX
08 MDH, 10MDL 10 FDL..., 08FDH...
06 MBSPP 06 FBSP.., 06 FJISX, 06 FBFFX
06 MP, MPX 06 FP
06 MBSPT
06 FPX
06 MFFOR 06 FFORX
07 MIX
12 MDL, 10MDH 12 FDL.., 10 FDH..
08 MIX
08 MJ, MS, MFA, MB, MBX 08 FSX, FJX
12 MDH, 13 MFG 12 FDH.., 13 FFGX, 14FDL..
08 MFFOR 08 FFORX
08 FPX
08 MBSPP, 08 MBFF 08 FBSP.., FJISX, FBFFX
08 MP, MPX
08 MBSPT

10 MJ, MS, MFA, MB, MBX
15 MDL, 14 MDH

10 FJX, FSX
15 FDL..., 14 FDH...,08 FKX

10 MBSPP 10 FBSP...,10 FBFFX
10 MBSPT
16 MDH, 17 MFG 16 FDH.., 17 FFGX, 10 FKX
10 MFFOR 10 FFORX
18 MDL 18 FDL...
12 MBSPP 12 FBSP.., FJISX, FBFFX
12 MP, MPX
20 RU27A
12 FPX

3 0 6 8 1 9 2

442001_3068192_A4



